Cost Accounting          QUIZ Chapter 23        Name______________________________________


1. Waldorf Company has two sources of funds: long-term debt with a market and book value of $10 million issued at an interest rate of 12%, and equity capital that has a market value of $8 million (book value of $4 million). Waldorf Company has profit centers in the following locations with the following operating incomes, total assets, and total liabilities. The cost of equity capital is 12%, while the tax rate is 25%.

	
	Operating

Income
	Assets
	Current

Liabilities

	St. Louis
	$   960,000
	$  4,000,000
	$   200,000

	Cedar Rapids
	$1,200,000
	$  8,000,000
	$   600,000

	Wichita
	$2,040,000
	$12,000,000
	$1,200,000



What is the EVA for St. Louis?

 
What is the EVA for Cedar Rapids?


What is the EVA for Wichita?

2. During the past twelve months, the Aaron Corporation had a net income of $50,000.  What is the amount of the investment if the return on investment is 20%?

A.  $100,000

B.  $200,000

C.  $250,000

D.  $500,000
THE FOLLOWING INFORMATION APPLIES TO QUESTIONS 3 THROUGH 7:

The top management at Munchie Company, a manufacturer of computer games, is attempting to recover from a flood that destroyed some of their accounting records. The main computer system was also severely damaged. The following information was salvaged:



Alpha Division
Beta Division
Gamma Division

Sales
$2,500,000
(a)
$1,150,000


Net operating income
$1,500,000
$650,000
$   575,000


Operating assets
(b)
(c)
$   766,667


Return on investment
0.25
0.15
(d)


Return on sales
(e)
0.10
0.5


Investment turnover
(f)
(g)
1.5

3.  What were the sales for the Beta Division?

A.  $4,333,333

B.  $5,952,380

C.  $6,500,000

D.  $7,151,800

4.  What is the value of the operating assets belonging to the Alpha Division? 

A.  $4,333,333

B.  $6,000,000

C.  $6,500,000

D.  $7,151,800

5.  What is the value of the operating assets belonging to the Beta Division?

A.  $4,333,333

B.  $5,952,380

C.  $6,500,000

D.  $7,151,800

6.  What is the Gamma Division's return on investment?

A.  0.25

B.  0.42

C.  0.60

D.  0.75
7.  What is the Alpha Division's return on sales?

A.  0.25

B.  0.42

C.  0.60

D.  0.75

1. Waldorf Company has two sources of funds: long-term debt with a market and book value of $10 million issued at an interest rate of 12%, and equity capital that has a market value of $8 million (book value of $4 million). Waldorf Company has profit centers in the following locations with the following operating incomes, total assets, and total liabilities. The cost of equity capital is 12%, while the tax rate is 25%.

	
	Operating

Income
	Assets
	Current

Liabilities

	St. Louis
	$   960,000
	$  4,000,000
	$   200,000

	Cedar Rapids
	$1,200,000
	$  8,000,000
	$   600,000

	Wichita
	$2,040,000
	$12,000,000
	$1,200,000



What is the EVA for St. Louis?


WACC = [(0.09 x $10,000,000) + (0.12 x $8,000,000)]/$18,000,000 = 0.1033


St. Louis (EVA) = ($960,000 x 0.75) – [0.1033 x (4,000,000 - $200,000)] 


= $720,000 - $392,540= $327,460

What is the EVA for Cedar Rapids?


Cedar Rapids (EVA) = ($1,200,000 x 0.75) - [0.1033 x ($8,000,000 - $600,000)]


= $900,000 - $764,420= $135,580

What is the EVA for Wichita?


Wichita (EVA) = 
($2,040,000 x.75) – [(0.1033 x ($12,000,000 - 1,200,000)]


= $1,530,000 - $1,115,640= $414,36
2. During the past twelve months, the Aaron Corporation had a net income of $50,000. What is the amount of the investment if the return on investment is 20%?

A.  $100,000

B.  $200,000

C.  $250,000

D.  $500,000


0.20 = $50,000/x; x = $250,000
THE FOLLOWING INFORMATION APPLIES TO QUESTIONS 3 THROUGH 7:

The top management at Munchie Company, a manufacturer of computer games, is attempting to recover from a flood that destroyed some of their accounting records. The main computer system was also severely damaged. The following information was salvaged:



Alpha Division
Beta Division
Gamma Division

Sales
$2,500,000
(a)
$1,150,000


Net operating income
$1,500,000
$650,000
$   575,000


Operating assets
(b)
(c)
$   766,667


Return on investment
0.25
0.15
(d)


Return on sales
(e)
0.10
0.5


Investment turnover
(f)
(g)
1.5

3.  What were the sales for the Beta Division?

A.  $4,333,333

B.  $5,952,380

C.  $6,500,000

D.  $7,151,800





0.10 = $650,000/x;   x = $6,500,000

4.  What is the value of the operating assets belonging to the Alpha Division? 

A.  $4,333,333

B.  $6,000,000

C.  $6,500,000

D.  $7,151,800





$1,500,000/0.25 = $6,000,000

5.  What is the value of the operating assets belonging to the Beta Division?


A.  $4,333,333


B.  $5,952,380


C.  $6,500,000


D.  $7,151,800





.15 = $650,000/x; x = $4,333,333

6.
What is the Gamma Division's return on investment?


A.  0.25


B.  0.42


C.  0.60


D.  0.75





0.5 x 1.5 = 0.75

7.
What is the Alpha Division's return on sales?


A.  0.25


B.  0.42


C.  0.60


D.  0.75


$1,500,000/$2,500,000 = 0.60
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